@ 2.6 — Simultaneous equations

Student name: Score:

1. Solve the simultaneous equations.

2x+3y=17
Sx—-4y=-17

2. The cost of a mango is $m.
The cost of a pineapple is $p.

(a) Write an expression, in terms of m and p, for the cost of 2 mangoes and 3 pineapples.
$.2mE30. [1]

(b) The cost of 2 mangoes and 3 pineapples is $13.
The cost of 6 mangoes and 2 pineapples is $18.

Write down two equations and solve them to find the cost of one mango and the cost of one

pineapple.
Mango=$..2 ...,
pineapple = $.. ..o [4]
3. Solve the simultaneous equations.
x=2y=7
x+2y=3
X
-1
Y S e [2]
4. Solve the simultaneous equations.
Ipt+dg= 7
S5p+6g=10 {
D e
2.5
G = et [4]
5. Solve these simultaneous equations.
y=2x-8
3x+2y=5
X o,
-2
Y s [3]
6. Solve these simultaneous equations.
Sx+2y =11
4x—3y =18
X =l
-2
Y T s [4]
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7. Solve the simultaneous equations.

8. Solve the simultaneous equations.
You must show all your working.

9. Solve the simultaneous equations.

10. Solve the simultaneous equations.

11. Solve the simultaneous equations.

12. v=x+1and y=2-x

Find the value of x.

13. Solve the simultaneous equations.

=10
o

14. Solve these simultaneous equations.

3x-2y=7
S5x+2y=1

3x+2y=-5
2x=5y= 3

3g-2h=11

g—-2h=5

u—w= 9
u+w=19

4x -3y =12

ox— y=11

dx+3y =20
2Xx—y=5

= =
I
L&
i
S

= s
Y=, 2]
x= '1 ....................................

y= o [4]

8=

h= 2]
= e,

Wm [4]
x= L,
Y=, 3]
x= 0 [2]
x=
D R 3]

=
Y S e [2]
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15. Solve the simultaneous equations.
a+b=16
2a—b=17

16. Solve the simultaneous equations.

3x+2p =1
Tx— y=26

17. Solve the simultaneous equations.

2x+3y =5

y=3x+9
18. Solve the simultaneous equations.
Sx+2y=—12
3x— y=-5
19. Solve the simultaneous equations.
x—3y=
Sx—6y=-—

20. The mean of two numbers 1s 46.
The difference between the two numbers 1s 12.

Find the two numbers.

21. Solve the simultaneous equations.
3x+2y=4
2x=3y=17
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a= A1
D= D 2]
X,
Y T e, [2]
2
S
T 3]
2
0 T
Y= e, [3]
-5
PN
B = S e (3]
...... 40...and 92 2]
X= . 2 e
Y= ... e, [4]




22. Solve the simultaneous equations.

23. Solve the simultaneous equations.

3t— u=-5
3t+2u= 1

2p—3g =1
pt3g=2

24. Solve the simultaneous equations.

25. Solve the simultaneous equations.

You must show all your working.

4x+3y =
3x—4y =

Ix=2y=12
Sx+ y=17

—10
5

fm o ]
U= ool [2]
3
D T e
1
= ooy [2]
X e
ST e JOOO OO [3]
X = e
Y S e [4]
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